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A - JIAE &R (1) 14.81 (-1.9) 7 MA() 14.97 (-1.9)|FA  Fi#R(1) 15.12 (-1.9) (@ Z=(1) 15.19 (-1.9) [#£8E 2 (1) 15.36 (-1.9)[#E ZAK(1) 15.63 (-1.9) &5 A1) 15.77 (-1.9)[tE 2FE(Q) 16.02 (-1.9)
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1R6E | =mm AR 12.53 (-0.5) Il #&&(1) 12.16 (+0.9)|&F BA() 11.87 (+0.1)|[#£8E B AER(1) 11.29 (+1.0) |/t & Q) 11.24 (+1.6)|FE H&EQ) 1121 (-0.4)[BE #E#(1) 11.16 (+0.9)
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P - AR KE() 1237|480 XKHE(1) 11.38[F®H  F#(1) 10.94[#1L  #EB(L) 103872 EZ(Q) 9.74|158 EE(1) 8.67|7mHE £5(1) 836/ Em (1) 8.16
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RRFEIR REKXF RRFEIR + B HT ANER:) i +BHT +BHT
1H6H 100m 2E Bk (l) 1:00.47|@F  #HE(1) 1:01.70)11  ZFE(1) 1:02.04[iiA  FIFE(1) 1:03.56|%H Fr(1) 1:03.77|&= #h#(1) 1:04.48|5F4R  =3(1) 1:04.84|/N8 ®MR() 1:05.01
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e 200m iR (1) 2:20.36| =B &) 2:34.24|FH (1) 2:34.35|FEER 1&(1) 2:36.41 |l EHB(1) 2:36.72|78lE  E%(1) 2:37.19|@E  ®BH;Q) 2:39.83|MF (1) 2:43.66
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TAGH | OB e ey HE =m

w (wind assist) : JBRZE




	上位記録一覧

